


Particle distribution after FCAL

78% of events are above N=4

These are pions
that shower in 
FCAL and  don’t 
produce particles 
beyond x=1.2

These are pions that don’t shower in FCAL



Particle distribution after FCAL: events are removed 
that have N=0 in the single pion response

91% of events are above N=4

Excluded 
events where 
N=0 in single 
pion response

Neither pion has showered in FCAL



20 cm iron = 1× I
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Particle distribution in SCINT2 for particles below 
threshold in SCINT1

86% of events are above N=4

 EVENT = FCAL + SCINT1 + SCINT2


